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Chapter 3
1. Which animal did not work the harvest?
a. Pig
b. Duck
c. Horse
d. Donkey
2. Who is the hardest worker on the farm?
a. Boxer
b. Napoleon
c. Squealer
d. Muriel

3. The existence of the Reeducation Committee seems
to imply...

a. The animals were all intellectual
b. That the animals shouldn't be educated

c. Knowledge is objective and independently
true

d. The State controlled knowledge
4. The essential explanation of Animalism is...

a. “All animais are companions”

b. "Four legs good, two legs bad”

¢."Kill humans!”

d. “Freedom and Liberty for Animals”
5. Which animal took the puppies?

a. Napoleon

b. Snowball

c. Squealer

d. Moses

6. How do the pigs justify eating the apples and the
milk?

a. They need it for labor

b. They need it for the cows

c. They need it for brainwork
d. They need it for the harvest

7. "With the worthiess parasitical human beings gone,
there was more for everyone fo eal.”

Based on the context of the book, parasitical means. ..
a. freeloading
b. mean
¢. abusive
d. enemy
8. °I will worker harderi”
This is the motto of which character?
a. Molly
b. Clover
¢. Boxer
d. Snowball

9. "Snowball also busied himself with organizing the
other animals info what he called Animal Commitiees.
He was indefatigable at this. He formed the Egg
Production: Commitiee for the hens, the Clean Tails
League for the cows..."

Based on the context of the book, indefatigable
means...

a. enthusiastic
b. unorganized
c. slow

d. unexcited

10. Which of the following animals best fills the position
of the proletariat?

a. pigs
b. dogs
¢. horses
d. cats



